EE 3340
Homework Problem #047

The circuit shown is in the phasor domain. Determine its Thévenin equivalent at terminals (a,b).
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5 0 f.2
Vs 5 1 DC 0

R3 1 4 0.2

H 4 0 Vs 0.2

L 1 2 .0

Rz 2 3 a1

Is 0 3 AC 1 0

LAC LIN 1 {1/(2*pi)} {1/ (2*pi)}
»end

AC Analysis ~---
frequency: 0.159155 Hz
V(5): mag: 0.0666667 phase: -1.09332e-015° voltage
V(1) : mag: 0.0666667 phase: -1.09332e-015° voltage
V{4) : mag: 0.0666667 phase: 180° voltage
V(2): mag: 0.120743 phase: 55.9151° voltage
V(3): mag: 0.195223 phase: 30.8128° voltage
I(H): mag: 0.666667 phase: -1.09332e-015° device current
I(L): mag: 1 phase: 180° device current
I(Is): mag: 1 phase: 0° device_purrent
I(R2): mag: 1 phase: 180° device current
I(R3): mag: 0.666667 phase: -1.09332e-015° device current
I{R1): mag: 0.333333 phase: -1.09332e-015° device_purrent
I(vs): mag: 0.333333 phase: 180° device current
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